

**SEMESTER
2**

MATHEMATICS

for Asasi UNIMAS

**IBRAHIM BOHARI
NORHUNAINI MOHD SHAIPULLAH
CHEW KHUI TAT**

Uni
QA
39.2
M425
2016


UNIMAS
UNIVERSITI MALAYSIA SARAWAK
PUBLISHER

P. KHIDMAT MAKLUMAT AKADEMIK
UNIMAS



1000272845

Mathematics

for Asasi UNIMAS

SEMESTER 2

With Compliments
from

bagian Penerbitan, unimas

Mathematics *for Asasi UNIMAS*

SEMESTER 2

**IBRAHIM BOHARI
NORHUNAINI MOHD SHAIPULLAH
CHEW KHUI TAT
NUR FAZLIANA RAHIM
EMMERLINE SHELDA SIAW
GEORGE TAN GEOK SHIM
FARAH LIYANA AZIZAN**

612245157

UNIVERSITI MALAYSIA SARAWAK
KAMPUS KOTA SAMARAHAN

© Ibrahim Bohari
Norhunaini Mohd Shaipullah
Chew Khui Tat
Nur Fazliana Rahim
Emmerline Shelda Siaw
George Tan Geok Shim
Farah Liyana Azizan, 2016

All rights reserved. No part of this publication may be reproduced, stored in retrieval system, or transmitted, in any form or by any means, electronic, mechanical, photocopying, recording or otherwise, without the prior permission of the publisher.

Published in Malaysia by
UNIMAS Publisher,
Universiti Malaysia Sarawak,
94300 Kota Samarahan,
Sarawak, Malaysia.

Printed in Malaysia by
InfoGrafik Press Sdn. Bhd.
Lot 201, No. 265, Section 50, Jalan Nipah,
Off Jalan Abell Utara, 93100 Kuching,
Sarawak, Malaysia.

Perpustakaan Negara Malaysia

Cataloguing-in-Publication Data

Ibrahim Bohari
MATHEMATICS for Asasi UNIMAS. SEMESETER 2 / IBRAHIM BOHARI,
NORHUNANI MOHD SHAIPULLAH, CHEW KHUI TAT, NUR FAZLIANA
RAHIM, EMMERLINE SHELDA SIAW, GEORGE TAN GEOK SHIM,
FARAH LIYANA AZIZAN.
Includes index
Bibliography: pages 333
ISBN 978-967-2008-04-0
I. Mathematics--Problems, exercises, etc.
I. Norhunaini Mohd. Shaipullah. II. Chew Khui Tat.
III. Nur Fazliana Rahim. IV. Emmerline, Shelda Siaw.
V. Tan, George Geok Shim. VI. Farah Liyana Azizan.
VII. Title.
810.76

Uni
QA
39-2
M425
2016

CONTENT

List of table	viii
List of figures	ix
Preface	xi
1 Differentiation	1
2 Applications of Differentiation	33
3 Integration	67
4 Data Description	129
5 Permutations and Combinations	181
6 Probability	197
7 Random Variables	245
8 Special Probability Distributions	277
Glossary	329
Bibliography	333
Index	335

ILLUSTRATION LIST

LIST OF TABLES

Table 1.1	10
Table 1.2	10
Table 2.1	36
Table 2.2	37
Table 2.3	40
Table 2.4	41
Table 3.1	88
Table 4.1	162
Table 5.1	181
Table 7.1	262
Table 8.1	278
Table 8.2	309

PREFACE

Mathematics for Asasi UNIMAS Semester 2 is written for student at Centre for Pre-University Universiti Malaysia Sarawak and all local matriculation centre. This book contain all the required sub-topic for pre-university for Mathematics Semester 2.

The objective of this book is to develop the understanding of mathematical concepts and their application. At the same time, to build problem solving skills and to formulate problems into mathematical terms and try to solve the problems. All mathematical concepts are presented in simple English for easy understanding.

This books contains eight chapter that had been planned and arranged carefully based on the university syllabus. In each chapter, all concepts and skills presented for each subtopic are accompanied by detailed explanation. Question and solution for each chapter provide a wide range of examination type question based on the concepts and theories learnt.

The topics are arranged in a systematic manner to make learning easier and more effective. The mathematical concepts of each topic presented in a comprehensive for easy understanding. Answers are also provided for all question on each chapter. The book is also suitable for first year undergraduate Statistics of a degree or diploma programme.

We hope this book will assist Asasi students in mastering mathematical concepts as well as preparing them for their examination.

Ibrahim Bohari
Norhunaini Mohd Shaipullah
Chew Khui Tat
Nur Fazliana Rahim
Emmerline Shelda Siaw
George Tan Geok Shim
Farah Liyana Azizan



DIFFERENTIATIONS

1.1 Derivative of a Function

The derivative of a function $f(x)$ with respect to x from first principles is

$$f'(x) = \frac{dy}{dx} = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$

Example 1.1

Find the derivatives of the following functions from the first principles

- (a) $f(x) = 3x + 2$
- (b) $f(x) = 5x^2 - 4$

Solution

- (a) $f(x) = 3x + 2$, $f(x+h) = 3(x+h) + 2$

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{(3(x+h) + 2) - (3x + 2)}{h} \\ &= \lim_{h \rightarrow 0} \frac{3x + 3h + 2 - 3x - 2}{h} \\ &= \lim_{h \rightarrow 0} \frac{3h}{h} \\ &= \lim_{h \rightarrow 0} 3 \\ &= 3 \end{aligned}$$

(b) $f(x) = 5x^2 - 4$, $f(x+h) = 5(x+h)^2 - 4$

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{(5(x+h)^2 - 4) - (5x^2 - 4)}{h} \\ &= \lim_{h \rightarrow 0} \frac{5(x^2 + 2xh + h^2) - 4 - 5x^2 + 4}{h} \\ &= \lim_{h \rightarrow 0} \frac{5x^2 + 10xh + 5h^2 - 5x^2}{h} \\ &= \lim_{h \rightarrow 0} \frac{5h^2 + 10xh}{h} \\ &= \lim_{h \rightarrow 0} \frac{h(5h + 10x)}{h} \\ &= \lim_{h \rightarrow 0} 5h + 10x \\ &= 5(0) + 10x \\ &= 10x \end{aligned}$$

1.2 Rules of Differentiation

1. The constant rule

$$\frac{d}{dx}(c) = 0 \quad , \text{ where } c \text{ is real number.}$$

2. The power rule

$$\frac{d}{dx}(x^n) = nx^{n-1}$$

3. The constant multiple rule

$$\frac{d}{dx}[cf(x)] = c \frac{d}{dx}[f(x)] = cf'(x)$$

4. The sum and difference rule

$$\frac{d}{dx} [f(x) \pm g(x)] = \frac{d}{dx} [f(x)] \pm \frac{d}{dx} [g(x)]$$

5. The product rule

$$\frac{d}{dx} [f(x)g(x)] = f(x)\frac{d}{dx} [g(x)] + g(x)\frac{d}{dx} [f(x)]$$

6. The quotient rule

$$\frac{d}{dx} \left[\frac{f(x)}{g(x)} \right] = \frac{g(x)\frac{d}{dx} [f(x)] - f(x)\frac{d}{dx} [g(x)]}{[g(x)]^2} \quad \text{where } g(x) \neq 0$$

7. The chain rule

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx} \quad \text{where } y = f(u) \text{ and } u = f(x).$$

A simpler version of the chain rule: $\frac{d}{dx} [g(x)]^n = n[g(x)]^{n-1} g'(x)$

Example 1.2

Find $\frac{dy}{dx}$ of the following functions.

(a) $y = 5$

(b) $y = x^3$

(c) $y = 8x^5$

(d) $y = \frac{10}{\sqrt{x}}$

(e) $y = x^5 + 10x - 8x^3$

$$(f) \quad y = (8x^4 + 12)(5x^2 - 10)$$

$$(g) \quad y = \frac{x^3 + 1}{x - 4}$$

$$(h) \quad y = (x^{10} + 17)^5$$

Solution

$$(a) \quad y = 5$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{d}{dx}(5) \\ &= 0 \end{aligned}$$

$$(b) \quad y = x^3$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{d}{dx}(x^3) \\ &= 3x^2 \end{aligned}$$

$$(c) \quad y = 8x^5$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{d}{dx}(8x^5) \\ &= 8 \frac{d}{dx}(x^5) \\ &= 8(5)x^4 \\ &= 40x^4 \end{aligned}$$

$$(d) \quad y = \frac{10}{\sqrt{x}}$$

$$= 10x^{-\frac{1}{2}}$$

$$\frac{dy}{dx} = \frac{d}{dx} \left(10x^{-\frac{1}{2}} \right)$$

$$= 10 \frac{d}{dx} \left(x^{-\frac{1}{2}} \right)$$

$$= 10 \left(-\frac{1}{2} \right) x^{-\frac{3}{2}}$$

$$= -5x^{-\frac{3}{2}}$$

$$= -\frac{5}{\sqrt{x^3}}$$

$$(e) \quad y = x^5 + 10x - 8x^3$$

$$\frac{dy}{dx} = \frac{d}{dx} (x^5 + 10x - 8x^3)$$

$$= \frac{d}{dx} (x^5) + \frac{d}{dx} (10x) - \frac{d}{dx} (8x^3)$$

$$= \frac{d}{dx} (x^5) + 10 \frac{d}{dx} (x) - 8 \frac{d}{dx} (x^3)$$

$$= 5x^4 + 10 - 8(3)x^2$$

$$= 5x^4 + 10 - 24x^2$$

$$(f) \quad y = (8x^4 + 12)(5x^2 - 10)$$

$$\begin{aligned}
 \frac{dy}{dx} &= \frac{d}{dx}(8x^4 + 12)(5x^2 - 10) \\
 &= (8x^4 + 12) \frac{d}{dx}(5x^2 - 10) + (5x^2 - 10) \frac{d}{dx}(8x^4 + 12) \\
 &= (8x^4 + 12)(10x) + (5x^2 - 10)(32x^3) \\
 &= 80x^5 + 120x + 160x^5 - 320x^3 \\
 &= 240x^5 - 320x^3 + 120x
 \end{aligned}$$

$$(g) \quad y = \frac{x^3 + 1}{x - 4}$$

$$\begin{aligned}
 \frac{dy}{dx} &= \frac{d}{dx} \left(\frac{x^3 + 1}{x - 4} \right) \\
 &= \frac{(x - 4) \frac{d}{dx}(x^3 + 1) - (x^3 + 1) \frac{d}{dx}(x - 4)}{(x - 4)^2} \\
 &= \frac{(x - 4)(3x^2) - (x^3 + 1)(1)}{(x - 4)^2} \\
 &= \frac{3x^3 - 12x^2 - x^3 - 1}{(x - 4)^2} \\
 &= \frac{2x^3 - 12x^2 - 1}{(x - 4)^2}
 \end{aligned}$$

$$(h) \quad y = (x^{10} + 17)^5$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{d}{dx} (x^{10} + 17)^5 \\ &= 5(x^{10} + 17)^4 \frac{d}{dx} (x^{10} + 17) \\ &= 5(x^{10} + 17)^4 10x^9 \\ &= 50x^9 (x^{10} + 17)^4 \end{aligned}$$

Example 1.3

Find $\frac{d^2 y}{dx^2}$ and $\frac{d^3 y}{dx^3}$ of the following functions.

$$(a) \quad y = 5x^{10}$$

$$(b) \quad y = 5x^3 - 2x$$

Solution

$$\begin{aligned} (a) \quad y &= 5x^{10} \\ \frac{dy}{dx} &= \frac{d}{dx} (5x^{10}) \\ &= 5 \frac{d}{dx} (x^{10}) \\ &= 5(10x^9) \\ &= 50x^9 \end{aligned}$$

$$\begin{aligned}\frac{d^2 y}{dx^2} &= \frac{d}{dx} \left(\frac{dy}{dx} \right) \\ &= \frac{d}{dx} (50x^9) \\ &= 50 \frac{d}{dx} (x^9) \\ &= 50(9x^8) \\ &= 450x^8\end{aligned}$$

$$\begin{aligned}\frac{d^3 y}{dx^3} &= \frac{d}{dx} \left(\frac{d^2 y}{dx^2} \right) \\ &= \frac{d}{dx} (450x^8) \\ &= 450 \frac{d}{dx} (x^8) \\ &= 450(8x^7) \\ &= 3600x^7\end{aligned}$$

(b) $y = 5x^3 - 2x^2$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx} (5x^3 - 2x^2) \\ &= 5 \frac{d}{dx} (x^3) - 2 \frac{d}{dx} (x^2) \\ &= 5(3)x^2 - 2(2x) \\ &= 15x^2 - 4x\end{aligned}$$

$$\begin{aligned}
\frac{d^2 y}{dx^2} &= \frac{d}{dx} \left(\frac{dy}{dx} \right) \\
&= \frac{d}{dx} (15x^2 - 4x) \\
&= 15 \frac{d}{dx} (x^2) - 4 \frac{d}{dx} (x) \\
&= 15(2)x - 4 \\
&= 30x - 4
\end{aligned}$$

$$\begin{aligned}
\frac{d^3 y}{dx^3} &= \frac{d}{dx} \left(\frac{d^2 y}{dx^2} \right) \\
&= \frac{d}{dx} (30x - 4) \\
&= 30 \frac{d}{dx} (x) - \frac{d}{dx} (4) \\
&= 30
\end{aligned}$$

1.3 Differentiation of Exponential, Logarithmic and Trigonometric Functions

1. $\frac{d}{dx}(e^x) = e^x$. If $u = g(x)$, then $\frac{d}{dx}(e^u) = e^u \frac{du}{dx}$.
2. $\frac{d}{dx}(a^x) = a^x \ln a$, where $a \in \mathbb{R}$. If $u = g(x)$, then $\frac{d}{dx}(a^u) = a^u \frac{du}{dx} \ln a$.
3. $\frac{d}{dx}(\ln x) = \frac{1}{x}$. If $u = g(x)$, then $\frac{d}{dx}(\ln u) = \frac{1}{u} \frac{du}{dx}$.
4. $\frac{d}{dx}(\log_a x) = \frac{1}{x \ln a}$, where $a > 0$, $a \neq 1$. If $u = g(x)$, then $\frac{d}{dx}(\log_a u) = \frac{1}{u \ln a} \frac{du}{dx}$.

5. Function derivatives

Table 1.1

Function	Derivatives
$\sin x$	$\cos x$
$\cos x$	$-\sin x$
$\tan x$	$\sec^2 x$
$\sec x$	$\sec x \tan x$
$\operatorname{cosec} x$	$-\operatorname{cosec} x \cot x$
$\cot x$	$-\operatorname{cosec}^2 x$

6. Function derivatives

Table 1.2

Function	Derivatives
$\sin f(x)$	$\cos f(x) \frac{d}{dx} f(x)$
$\cos f(x)$	$-\sin f(x) \frac{d}{dx} f(x)$
$\tan f(x)$	$\sec^2 f(x) \frac{d}{dx} f(x)$
$\sec f(x)$	$\sec f(x) \tan f(x) \frac{d}{dx} f(x)$
$\operatorname{cosec} f(x)$	$-\operatorname{cosec} f(x) \cot f(x) \frac{d}{dx} f(x)$
$\cot f(x)$	$-\operatorname{cosec}^2 f(x) \frac{d}{dx} f(x)$

Example 1.4

Find the derivatives of the following functions.

(a) $y = e^{5x}$

(b) $y = 6^x$

(c) $y = e^{4x-2} + \frac{1}{e^x}$

(d) $y = 7^{4x} + e^x$

(e) $y = x^2 e^{3x+1}$

Solution

(a) $y = e^{5x}$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx}(e^{5x}) \\ &= 5e^{5x}\end{aligned}$$

(b) $y = 6^x$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx}(6^x) \\ &= 6^x \ln 6\end{aligned}$$

(c) $y = e^{4x-2} + \frac{1}{e^x}$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx}\left(e^{4x-2} + \frac{1}{e^x}\right) \\ &= \frac{d}{dx}(e^{4x-2}) + \frac{d}{dx}(e^{-x}) \\ &= 4e^{4x-2} - e^{-x} \\ &= 4e^{4x-2} - \frac{1}{e^x}\end{aligned}$$

$$\begin{aligned}
 \text{(d)} \quad y &= 7^{4x} + e^x \\
 \frac{dy}{dx} &= \frac{d}{dx}(7^{4x} + e^x) \\
 &= \frac{d}{dx}(7^{4x}) + \frac{d}{dx}(e^x) \\
 &= 7^{4x}(4)\ln 7 + e^x
 \end{aligned}$$

$$\begin{aligned}
 \text{(e)} \quad y &= x^2 e^{3x+1} \\
 \frac{dy}{dx} &= \frac{d}{dx}(x^2 e^{3x+1}) \\
 &= x^2 \frac{d}{dx}(e^{3x+1}) + (e^{3x+1}) \frac{d}{dx}(x^2) \\
 &= (x^2)(3e^{3x}) + (e^{3x+1})(2x) \\
 &= 3x^2 e^{3x} + 2xe^{3x+1}
 \end{aligned}$$

Example 1.5

Find the derivatives of the following functions.

$$\text{(a)} \quad y = \ln 2x$$

$$\text{(b)} \quad y = \ln(5x+2)$$

$$\text{(c)} \quad y = \log 5x$$

$$\text{(d)} \quad y = \log_3 \sqrt{5x-3}$$

Solution

(a) $y = \ln 2x$

Let $u = 2x$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx}(\ln 2x) \\ &= \frac{1}{2x} \cdot \frac{d}{dx}(2x) \\ &= \frac{1}{2x} \cdot (2) \\ &= \frac{1}{x}\end{aligned}$$

(b) $y = \ln(5x + 2)$

Let $u = 5x + 2$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx}(\ln(5x + 2)) \\ &= \frac{1}{5x + 2} \cdot \frac{d}{dx}(5x + 2) \\ &= \frac{1}{5x + 2} \cdot (5) \\ &= \frac{5}{5x + 2}\end{aligned}$$

(c) $y = \log 5x$

Let $u = 5x$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx}(\log 5x) \\ &= \frac{1}{5x \ln 10} \cdot \frac{d}{dx}(5x) \\ &= \frac{1}{5x \ln 10} \cdot (5) \\ &= \frac{1}{x \ln 10}\end{aligned}$$

(d) $y = \log_3 \sqrt{5x-3}$

Let $u = 5x-3$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx} \left(\log_3 (5x-3)^{\frac{1}{2}} \right) \\ &= \frac{1}{(5x-3)^{\frac{1}{2}} \ln 3} \cdot \frac{d}{dx} (5x-3)^{\frac{1}{2}} \\ &= \frac{1}{(5x-3)^{\frac{1}{2}} \ln 3} \cdot \left(\frac{1}{2} (5x-3)^{-\frac{1}{2}} \cdot \frac{d}{dx} (5x-3) \right) \\ &= \frac{1}{(5x-3)^{\frac{1}{2}} \ln 3} \cdot \left(\frac{1}{2} (5x-3)^{-\frac{1}{2}} \cdot (5) \right) \\ &= \frac{5}{2(5x-3) \ln 3}\end{aligned}$$

Example 1.6

Find the derivatives of the following functions.

(a) $y = \sin 3x$

(b) $y = \tan 5x^3$

(c) $y = \sec(2x^3 + 4)$

(d) $y = \cot^4 3x$

Solution

(a) $y = \sin 3x$

$$\frac{dy}{dx} = \frac{d}{dx}(\sin 3x)$$

$$= 3 \cos 3x$$

(b) $y = \tan 5x^3$

$$\frac{dy}{dx} = \frac{d}{dx}(\tan 5x^3)$$

$$= \sec^2 5x^3 \frac{d}{dx}(5x^3)$$

$$= \sec^2 5x^3 (15x^2)$$

$$= 15x^2 \sec^2 5x^3$$

$$(c) \quad y = \sec(2x^3 + 4)$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{d}{dx}(\sec(2x^3 + 4)) \\ &= \sec(2x^3 + 4)\tan(2x^3 + 4)\frac{d}{dx}(2x^3 + 4) \\ &= \sec(2x^3 + 4)\tan(2x^3 + 4) \cdot (6x^2) \\ &= 6x^2 \sec(2x^3 + 4)\tan(2x^3 + 4) \end{aligned}$$

$$(d) \quad y = \cot^4 3x$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{d}{dx}(\cot^4 3x) \\ &= \frac{d}{dx}(\cot 3x)^4 \\ &= -4 \cot^3 3x \operatorname{cosec}^2 3x \frac{d}{dx}(3x) \\ &= -4 \cot^3 3x \operatorname{cosec}^2 3x \cdot (3) \\ &= -12 \cot^3 3x \operatorname{cosec}^2 3x \end{aligned}$$

1.4 Implicit Differentiation

1. If y is not alone on one side of the equation, the equation defines y implicitly as function of x . For example $y^2 + x^2 = y - 2x$.
2. To find $\frac{dy}{dx}$ of an implicit function, differentiate each terms with respect to x .

Example 1.7

Find $\frac{dy}{dx}$ for the following functions.

(a) $y^2 + 3x = 5x^2 - y$

(b) $5x + xy^2 = 5y$

Solution

(a) $y^2 + 3x = 5x^2 - y$

$$\frac{d}{dx}(y^2 + 3x) = \frac{d}{dx}(5x^2 - y)$$

$$\frac{d}{dx}(y^2) + \frac{d}{dx}(3x) = \frac{d}{dx}(5x^2) - \frac{d}{dx}(y)$$

$$\frac{d}{dy}(y^2) \frac{dy}{dx} + 3 = 10x - \frac{d}{dy}(y) \frac{dy}{dx}$$

$$2y \frac{dy}{dx} + 3 = 10x - 1 \frac{dy}{dx}$$

$$2y \frac{dy}{dx} + 1 \frac{dy}{dx} = 10x - 3$$

$$(2y + 1) \frac{dy}{dx} = 10x - 3$$

$$\frac{dy}{dx} = \frac{10x - 3}{2y + 1}$$